ac <0, be >0 4 o, 9234 ax + by + ¢ = 0 ©] YEHH
A A] o= AHEH-E Fotoiet,

Y ER AFE



2.

F A mx—y+m+1=07y = —x+27F A 1ARZ A BhtE s
SHe A4 m 2] 7he] W9
@) 1< <1 @) 1< <1

3" g <m

1
® -1<m<?2 @M<—§,m>1

1
-l<m<—=
® m< -2



3. HHANA AL 3x-4y-5=00°] °]2= AZE FotH?

D R
=%



gAML A=ZF 101, A (1,2) € Ave Ao Aol ax +
by +c=02% FAE W, a+ b+ A& FSHH? (B b#0)

@1 @ 2 ® 3 @ 4 ®5



B P +y? - 20+ 2y + k=0 o] ¥ HEHHES & o] ME
gsha?

D k<=2 @ k<-1 ® k>-2

@ k<2 ® k>1



Y x?+y?—2x—4day+b=0°] F (=3, 4) & AU, x Fo| Hote =
a, b AL W, a+b 9 T2

@1 @ 2 ® 3 @ 4 ® 5



& TRANA a9t pAFole] PAAE LhER

™H?

®ato=1 @ 2+1-1
ey g b

® -+2=1 @ =+b=1
q
J— 7:1

©2a+b




—_

she?

:[L

FANy=3x+2 x—ay-7T=0° A& &
O
=

s

8.



2o O,
o o 2t

v

41 o o
Ol
ol

b
o <

£ o

o

L

= kx® 4+ k(k + 1)x + 2k% — 2k + 1 & k 9] Zholl BA glo]
Ae Adet. o] Ho| HEE P(a, b) F T W a+b 2



10. RE A ko thate] A4 (1+k)x+y-2k = 0 o o] 1, ¥ 52
AlS

dol7t 3 1 o] A FoHa?

@ (x—2)2+(y+2)2:9

@ (x+1)2+(+22=9



11.

)

f1o] & 3 A(8,0) , B(0,6) ll thsto] 4213 OAB < 9|3
Aol X +y* +ax+by+c =02 W, Al &4 a,b,c o &

2 Tstelat. (&, 0 & 97)



12, #udd 9o £ 4 (2, 2), (9. 9) & Avx
Hohz 90 o HH O x &= ?

D @ 5 B = @ 6

N | ©



o



14. F (2 1) 2 A4y = 20+ 1 9 date] g golsst Hel
F}?

_;,q_

i1
ar

it



15. x y7bASD d, /x+1)2+ (-3 + V(x-3)2+(-1)29
|77

@ V5 @ 245 ® 6 @ 2+6 ® 5






B =
Ll
Zn Tov

T

=

?

RS
-

AABD ¢} AACD 9] ¥l0]9] H]

1 A1 @ 2 ® 2

1



T4 f(x, y) = 00] HERHE =3 xS0l tiste] iAol 5A17]+=
A& A, yFol tiste] A ol 5A7l= A& B, A3l tiste] tiA
o FAIZIE A C, A4 y = x° tiste] A oA 7= AS Dt
Sl A 2%k +y4+1=02A—>B—>C—>D—->C—B—A°
A2 A o)l FAZ EF o ALY (T, A - B Aol 95t
i o517l & ThA] Bl o]ste] i o] B A7 AL LSitt)

O 2x+y+1=0 @ 2x4+y-1=0 @ x+2y-1=0

@ x+2y+1=0 & x-2y-1=0



19.

AEAG 1) A y=3x+19 4P E

211 2 WS A Q o A0 HAL?

8
®©y=-x-8 @ y=-3x+-

3
8
@y:?)x—g ® y=3x-3



20.

the 13 Zo] oHsk=F 9 0, O 9
TEAHA WHS P, HHS AB,C,D
a3 512k PA = AB = 4cm ¢ 1, 9 O
o] Yol & FotH?

@ mem? @ 2rcm?

@ 4rcm? ® 5mem?

@ 3mcm?

(ﬂa



